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MAT 202, Exam #1, Part I|, Fall 2016 Name

Instructions: Show all work. You may use a calculator on this portion of the exam. To show work on
calculator problems, shm'u the commands you used, and the resulting matrices. Give exact answers
(yes, that means fractions, square roots and exponentials, and not dgcimals) unless specifically directed
to give a decimal answer. This will require some operations to be done by hand even if not specifically

directed to. Be sure to chmpIete all parts of each question. Provide eéxplanations where requested.
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form, and round the solutions to 3 decimal places if needed. |Classify the system as consistent or

inconsistent; cIas'sify the solution as independent or dependent. Sketch the graph. (6 points)
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2. Find a cubic model for the data in the table below.

Year (after 2000) 1 3 7 10

Profit (millions)| 61 113 127 102
Assuming this models holds for all years between 2001 and 2010, what was the profit in 2005?
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7. Set up a matrix for the traffic flow graph below. Solve the system. If the system is dependent,
choose a value fct' the free variable that makes all values posjitive. What does it mean if the
values are negative? (5 points)
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10. Find two matrices that are idempotent, i.e. two matrices such that 42 = A. (3 points)
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